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/
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Score:

Eeading Thermometeli]

Write the temperature shown on each thermometer:

|

50 2 g —__] 3 s 4w 5)
40 40 —- 40 — 40
30 30 -3 30 30
20 20 = 20 20
10 10 10 10
0 0 5 0
40 10 D 10
220 20 20 -20
30 -30 430 -30
.40 -40 -40 -40
.50 50 50 .50
°C °c oc °C
50 I 8) 9 o __:_'_1 10)
40 40 -3 40 40 —:
30 30 —— 30 30 -—;
20 20 -3 20 20 ~:
10 0 —3 10 10 3
0 0 —~ 0 0 ._-
9 103 -4 A9 -3
20 = 220 20
30 = 30 230 —_
40 40 .40 —
.50 50 50
°C °C °c °C
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—28°C

Answer Key }

Write the temperature shown on each thermometer:
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Score:
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Shading Thermometer

12 °C
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Shade the thermometer to show the temperature,

33°C
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Name: Score:
/ Answer Keﬂ
Shade the thermometer to show the temperature.
1) —6°C 2) 12 °C 3) 33°C 4) —25°C 5 —38°C
50 50 — 50 50 — 50
40 = 40 —- 40 40 — 40 —
30 30 —‘ 30 30 30 ——:
20 - 20 20 20 20 -3
10 10 = 10 10 3 10 -3
0 3 0 5 0 — 03
-10 410 40 =5 <105
-20 20 220 20 3
30 .30 -30 -30 3
-40 -40 -40 40 —3
50 50 -50 50
6) 22°C 7y —42°C 8) 15°C 9) 38°C 10) —13°C
50 80 - 50 50 80 —
40 40 - 40 = 40 40 3
30 30 —% 30 -§ 30 30 —
20 20 — 20 - 20 20 -
10 10 -3 10 10 10 =
g ) _é 0 0 ] --f
-10 10 0 A0 40 -
-20 20 __ -20 20
230 30 - .30 -30
-40 40 3 -40 -40
-50 -50 -50 -50




